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START

Create fields

p_rgh, U, rho

Solve alpha equation

Solve momentum equations

Solve pressure equation

Correct velocity

Converged?

START

Converged?



1) p_rgh = 0.0

2) p = p_rgh+rgh
->value of each rho & cell center

3) p -= pRefValue(C14)
(pRefValue=1x-9.81x0.025=-0.24525)

4) p_rgh = p – rgh

 p_rgh=p_rgh+rgh-pRefValue-rgh

 p_rgh -= pRefValue

celli init_p_rgh[celli]

0 0.245249999999999968025576890795

1 0.245249999999999968025576890795

2 0.245249999999999968025576890795

3 0.245249999999999968025576890795

4 0.245249999999999968025576890795

5 0.245249999999999968025576890795

6 0.245249999999999968025576890795

7 0.245249999999998635757947340608

8 0.245249999999999968025576890795

9 0.245249999999999968025576890795

10 0.245249999999999968025576890795

11 0.245249999999998635757947340608

12 0.245249999999998635757947340608

13 0.245249999999999968025576890795

14 0.245249999999999968025576890795

15 0.245249999999999968025576890795

16 0.245249999999998635757947340608

17 0.245249999999998635757947340608

18 0.245249999999998635757947340608

19 0.245249999999999968025576890795

20 0.245249999999999968025576890795

21 0.245249999999998635757947340608

22 0.245249999999998635757947340608

23 0.245249999999998635757947340608

24 0.245249999999998635757947340608

25 0.245249999999998635757947340608

26 0.245249999999998635757947340608

27 0.245249999999998635757947340608

28 0.245249999999998635757947340608

29 0.245249999999998635757947340608

celli init_rho[celli]

0 1

1 1

2 1

3 1

4 1

5 1

6 1

7 999.049999999999840838427189738

8 1

9 1

10 1

11 999.049999999999954525264911354

12 999.049999999999840838427189738

13 1

14 1

15 1

16 999.049999999999954525264911354

17 999.049999999999954525264911354

18 999.049999999999954525264911354

19 1

20 1

21 999.049999999999954525264911354

22 999.049999999999954525264911354

23 999.049999999999840838427189738

24 999.049999999999954525264911354

25 999.049999999999954525264911354

26 999.049999999999840838427189738

27 999.049999999999954525264911354

28 999.049999999999954525264911354

29 999.049999999999954525264911354

- rho1 : water(999.05)

- rho2 : air(1)

-alpha1 : water ratio

-alpha2 : 1-alpha1
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rAU = 
1

𝑈𝐸𝑞𝑛.𝐴()
=

𝑚𝑒𝑠ℎ.𝑉()

𝑈𝐶𝑜𝑒𝑓𝑓.𝐷𝑖𝑎𝑔()

HbyA = rAU x 
(𝑠𝑜𝑢𝑟𝑐𝑒−𝑐𝑜𝑒𝑓𝑓×𝑝ℎ𝑖′)

𝑚𝑒𝑠ℎ.𝑉()

= 
(𝑠𝑜𝑢𝑟𝑐𝑒−𝑐𝑜𝑒𝑓𝑓×𝑝ℎ𝑖′)

𝑈𝐶𝑜𝑒𝑓𝑓.𝐷𝑖𝑎𝑔()

phig = rAUf x UEqn.snGrad(rho)

p_rghEqn.flux()




